
 
Find a closed form: 

∫
𝐥𝐧(𝒙) − 𝟒

(𝟏 − 𝒍𝒏𝟐(𝒙))
𝒅𝒙

𝒆𝟑

𝒆𝟐

 

Proposed by Nguyen Hung Cuong-Vietnam 

Solution by Arowolo Isaiah-Nigeria 

∫
𝐥𝐧(𝒙) − 𝟒

(𝟏 − 𝒍𝒏𝟐(𝒙))
𝒅𝒙

𝒆𝟑

𝒆𝟐
=⏞

𝒙=𝒆𝒙

∫
𝒙 − 𝟒

(𝟏 − 𝒙𝟐) 
𝒅𝒙 =

𝟏

𝟐
∫

𝒙 − 𝟒

𝒙 + 𝟏
𝒅𝒙 −

𝟏

𝟐
∫

𝒙 − 𝟒

𝒙 − 𝟏
𝒅𝒙 =

𝟑

𝟐

𝟑

𝟐

𝟑

𝟐

 

𝟏

𝟐
∫

𝒙 + 𝟏 − 𝟓

𝒙 + 𝟏
𝒅𝒙 −

𝟏

𝟐
∫

𝒙 − 𝟏 − 𝟑

𝒙 − 𝟏
𝒅𝒙 =

𝟏

𝟐
∫ 𝒅𝒙 −

𝟓

𝟐
∫

𝒅𝒙

𝒙 + 𝟏
−

𝟏

𝟐
∫ 𝒅𝒙 +

𝟑

𝟐
∫

𝟏

𝒙 − 𝟏
𝒅𝒙

𝟑

𝟐

𝟑

𝟐

𝟑

𝟐

𝟑

𝟐

𝟑

𝟐

𝟑

𝟐

= 

−
𝟓

𝟐
∫

𝒅𝒙

𝒙 + 𝟏
+

𝟑

𝟐
∫

𝟏

𝒙 − 𝟏
𝒅𝒙 = −

𝟓

𝟐
(𝐥𝐧(𝒙 + 𝟏))|

𝟑

𝟐
+

𝟑

𝟐

𝟑

𝟐

𝟑

𝟐

(𝐥𝐧(𝒙 − 𝟏))|
𝟑

𝟐
= 

−
𝟓

𝟐
(𝐥𝐧(𝟒) − 𝐥𝐧(𝟑)) +

𝟑

𝟐
(𝐥𝐧(𝟐) − 𝐥𝐧(𝟏)) = −

𝟓

𝟐
𝐥𝐧(𝟒) +

𝟓

𝟐
𝐥𝐧(𝟑) +

𝟑

𝟐
𝐥𝐧(𝟐) = 

−𝟓 𝐥𝐧(𝟐) +
𝟑

𝟐
𝐥𝐧(𝟐) +

𝟓

𝟐
𝐥𝐧 (𝟑) =

𝟓

𝟐
𝐥𝐧 (𝟑) −

𝟕

𝟐
𝐥𝐧 (𝟐) 

∫
𝐥𝐧(𝒙) − 𝟒

(𝟏 − 𝒍𝒏𝟐(𝒙))
𝒅𝒙 =

𝟓

𝟐
𝐥𝐧 (𝟑) −

𝟕

𝟐
𝐥𝐧 (𝟐)

𝒆𝟑

𝒆𝟐
 

 

 

 


